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General Instructions

This Question-Cum-Answer (QCA) Booklet contains 55+1 pages. Question Paper in detachable form is
available at the end of the QCA Booklet which ean be taken away by the candidate after examination.
For rough work, blank page has been provided at the end of this Booklet.

On receipt of the Booklet, please check that this QCA Booklet does not have any shortcomings, torn or
missing pages etc. If, so, get it replaced with a fresh QCA Booklet.
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Important Instructions

Candidates should read the undermen-
tioned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission etc.
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(a) Write your Registration Number and other
details only in the space provided in the
Question-Cum-Answer (QCA) Booklet for
candidates.

(b) Do not disclose your identity in any
manner such as, by writing your Name,
Registration number, Mobile number,
Address, Question-Cum-Answer (QCA)
Booklet No. etc. elsewhere in the Booklet
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Do not write in the QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusive expression etc., nor put any
sign/mark having no relevance to the answer.
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Do not make any direct/indirect appeal/threat
to the examiner.
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Do not write answers in bad/illegible
handwriting. Such answers may not be
evaluated.

I TTET ¥ gt ford| 3 o & forw gieer i
ITART 7 F9, g aed, BT gefe a e &
o Sfiyer 1 uaT faT s AT 2|

Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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Do not write answers in medium other than the
authorized medium in the Admission
Certificate. Do not use mixed language either
i.e. authorize and unauthorized media together
for writing answers.
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Write answer at the specific space (right below
the question) only. Answers written elsewhere
at unspecified places in the booklet shall not be
evaluated.
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If you wish to cancel any work, draw your pen
through it and write “Cancelled” across it,
otherwise it may be valued.
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off.
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It is argued that mathematics and astronomy were an important part of intellectual development in

ancient India. In this context, highlight the major contributions of ancient India to these areas.
(Answer in 150 words) 10
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In context of the rivalries, which existed between the English and French trading companies in

India, highlight the factors, which led to the success of the English East India Company in its
struggle against the French. (Answer in 150 words) 10
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The early nationalist leaders saw the internalization and indigenization of political democracy as
one of their main objectives. In context of the statement, identify the democratic practices

adopted by organisations and individual leaders during the freedom struggle. (Answer in 150
words) 10
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What were the causes of the Iranian Revolution of 19792 In what ways do the consequences of
this revolution remain relevant even today? (Answer in 150 words) 10
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Analyze the impact of globalization on indigenous craft, literary traditions and traditional
knowledge systems in India. (Answer in 150 words) 10
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Juvenile delinquency has attracted much media attention in recent years. What are the factors that

drive the juveniles towards crime? In this context, state the significance of rehabilitative and
reformative measures for juvenile delinquents. (Answer in 150 words) 10
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Highlighting the health challenges that tribals are facing in India, suggest a roadmap to improve
the health indicators of the tribals. (Answer in 150 words) 10
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Give an account of the geographical distribution pattern of major agro-based industries in India.
Also, explain their multiplier effect on rural economy. (Answer in 150 words) 10
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Highlight the reasons and resultant implications of disappearance of urban water bodies in India. | candidates
Mention some of the steps which can be taken in this regard. (Answer in 150 words) 10 | mustnot
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Explaining the role that Ocean Iron Fertilization can play in the fight against climate change,
discuss the concerns associated with its large-scale adoption. (Answer in 150 words) 10
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In India a vast number of languages are potentially endangered. Discuss the reasons and
implications of disappearance of a language. Also, suggest measures to preserve potentially
endangered languages. (Answer in 250 words) 15
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While the British established a judicial system based on the rule of law, in practice this system

suffered from numerous drawbacks. Analyze keeping in mind the developments between 1793
and 1833. (Answer in 250 words) 15
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Trace the evolution of British policy towards the princely states in India. How did the freedom
movement impact the people of these princely states? (Answer in 250 words) 15
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Give a brief account of the circumstances under which Simla agreement was signed in 1972.

Mentioning its important provisions, discuss whether it was a lost opportunity for India. (Answer
in 250 words) 15
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State the push and pull factors responsible for internal migration in India. Also examine how it is
impacting urban transition in India. (Answer in 250 words) 15
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Examine the factors responsible for poor performance of family planning programme in India.
Suggest some family planning strategies, which can be adopted for improving reproductive health
outcomes and achieving family welfare. (Answer in 250 words) 15
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Women experience poverty differently and more acutely as compared to men. In this context,
explain the socio-economic factors, which contribute to feminization of poverty in India. How
can this problem be tackled? (Answer in 250 words) 15

nhwuwlomee
3y O g’ (31) by 20

- mW' o, <ol
o ! e (0
e TR P

Gy Al Toguns pori

44

el
w alw §
& R

Candidates
must not
write on
this margin



nnnnnnnn

mmmmmmmm




M(tw I M W
@ S howmes [Lhe glmd'uf el }D
@. %W(m nev) - éam )'U-U\Slﬁ 7#{” 6”
omen o Slop thui magealis

46

dddddddd

wwwwww



18.

T ¥ et FraTat ¥ witaea 39 SeEn FIO F1 SAE Aied vEitha fiieel 59 5
Fo ¥ Foru g Torifara 1 qama o) (397 250 a==T ¥ 3)

Giving examples, highlight the reasons behind existence of regional disparities in India. Suggest
some strategies to address them. (Answer in 250 words) 15
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Highlighting different factors affecting Indian monsoon, explain why it is difficult to predict it.
(Answer in 250 words) 15
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Differentiate between the conditions in which tropical and extra-tropical cyclones originate,
move, mature and decay. (Answer in 250 words) 15
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